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128238(1)| 1200 |S5&EE1 B 5A0% 3 wvs O KT A
128238(1)| 1200 |[>&E82 BN 2 vs O | IIEXKHE B
128238(*)| 1200 |[S5=Z8/I| FREMD 2 vs 2 BARER C
128238(F)| 1330 |5ES3| EBUWBESHE | 4 vs 1 BIEE C
128238(1)| 1500 |S5&EE1 JENIESES 2 vs 2 I ES A
128238(X)| 1500 |>3cEK2 e 4 vs 1 FEIEtt B
128238(1)| 1500 |[5cE83| REHiL O wvs 1 2 D
128238(X)| 1500 |5&E854 ek 3 wvs 1 HEFE D

| KICKOFF

12824H(B)| 900 [>3EH1 JENIESE S 2 vs 7 WA A
128248(H)| 900 |[S5&a&82| BEIZEE 7 vs 3 KFAL A
128248(H)| 900 |[5&83 e 6 vs ©6 BRRCR B
128248(B)| 900 |>&E854 BIE+t 4 vs 2 Y IEKHFS B
128248(8)| 1030 |S5=E&1 B 3 vs 2 PINEEEE C
128248(H)| 1030 |[5&&E82 BAER 6 wvs O AN FE C
12824808)| 1030 |5&E83 biEd 4 wvs O BSMHIL D
128248(8)| 1030 |[5T&84| HRHFE 4 vs 1 A2 D
12824808)| 1330 |>5&E&E1 8)113_5 2 vs 4 KFIL A
128248(B)| 1330 |[3cE852| EfiZEE 3 vs 3 WP3AEE A
128248(0)| 1330 |[5&E3 (e 1 vs 5 Y IE KRS B
128248H(B)| 1330 |>5&aE84 R 1 vs O BIEtt B
128248(B)| 1500 |>3&E&1 BREE 7 vs 1 B EE C
128248(8)| 1500 |>3&&E&2 BHXEER 3 vs 1 PINEEEIA C
128248(B)| 1500 |3a&&3 b 1 wvs 1 K2 D
128248(B)| 1500 |S5T84| HRHFE 5 wvs O BEMIL D
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12R258(B)| 900 SIEE G 7% O wvs 1 BXER 1T
- . 1 Vs 1
128258(A) 9:00 STER2 BRI ER 0 PK 3 pla] 1T
128258(H)| 9:00 SEEE3 BNZEE 5 ws O B 2T
12H258H(H)| 9.00 STEE4 ok 1 wvs 2 FRFE 2T
128258(8)| 1030 |S5&ZE&1 KFIE 3 wvs O SERAREEHER 3T
128258(H)| 1030 |S5&E&2| IIEKXHE 1 wvs 2 KiE 3T
12A25HB)| 1030 |[5=ZE&S3 NB)I|3=2 2 vs 1 BN E 40T
12825B8(H)| 1030 |5=Z&4 FEIERt O wvs 4 BBz _ 40T




